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gbo,0000obobooooboooboon.

NOOOOOoooOoooooobo.obobooobboOobooDbOo.

gboooobooobo,0oboobooooobooog.

00 X00O0O0,X"0n00 X0O0OOOOOOO. 00,00 X,YOOOO, Map(X,Y)
b0 XxXooyvyudoooooooooboooooo.

oo0,:,y0000000000DOO0DO00O0DOOOODO.O0DODOO0OOD,:000O0
Oi1,1,...00000000.00,0000000000000000000A0.

1 0o0o0d

ROOODO,n00000000.
Map(N", R)0OO f,¢gO0N*0O0+0000,

(f+9)(&) = f(2) +g(2)
gooooooooo. oo
f+g:N'"— R i— (f+9)3) (1)

000 Map(N*, R)00000. 0000000, Map(N*, R)0000000000.
Map(N", R)00 f00000000O0ROO0OO«000000N'000O0O0 40000

. a, i=(0,0,...,0 000
f(@) =
0, 0000000

goooooooooooooono fO f,0000D0O0ODO0OO

000 1.10Map(N*", R)DOOOQOOQOO

000O0Map(N*, R)00000000000000 101000000000
0000O0Map(N®, R)OO f,g, hON'OO 40000

(F+9)+h)(@) = (f +9)(@) + h(2)
= (f(2) +9(3)) + h(3)
= f(3) + (9(2) + h(3))
=f@)+(g+h))
=(f+(g+h)).

000, (f+9)+h=f+(g+h).



0000O0Map(N", R)OO f,gO0N0OD0 40000

(f +9)(@) = f(#) +9(3)
=9() + f(2)
= (g+ 1))

000, f+g=g+f.
000000000 ROOOOOOOOOMap(N®, R)000D00D000000000 f,00
0000O0Map(N?, R)OO f,0N*0D0 40000

(f + fo)(@) = f(3) + fo(é) = f(4),
(fo+ 1)(@) = fo(d) + f(3) = f(3).

ood, f+fo=fot+f=1.
000000Map(N*, R)00 f00000Map(N*, R)00 ¢O

g:N*"— R, i+ —f(3)
000000g0000000 fO0000ODOO0OONODOODOO:O0000

(f+9)(@) = f(@) +9(3) =0,
(9+£)(@) = g(@) + f(3) = 0.

0oo, f+g=g+f=fo
O00D0O0OMap(N*, R)00000000000000O0 O

2 Joogo

ROODO,n0D000000O.
2" 00 i= (i1, @2, ..o, in), 3 = (J1, J2, .-, jn) O OO OO

t+J=>1+J1, 02+ 72, .oy in+Jn)
ooood
000 210m00000,keNOOO. 0O000,N"O0 (21, 22, ..., Tm) O
T+ a0+ -+, =k

ooooooooo p,, 0000000



gogbdombOOoOobDOoobOoObOobboOoboon.
m=10000p,,=10000
m=20000+0000

r+y=k
0000 N200 (z,y) 0O
(07k)a (17]{71)7 (27k72)7 ceey (k,O)
Ok+100000
m=30000k0000
r+y+z=k

0000 NDOO (z,9,2) 000002000000
y+z=k—=x
00N20OD (y,2)000000000000000000

(0,%,x) 000000000 pag O,
(1,%+) 000000000 pag_y O,

(k,%+) 000000000 pyoO.
ooa,

P3.k = D2,k TP2k—1+ T D20
=(k+1)+k+-+1

:%(k+1)(k+2).
oo0b0dm>2000,k0000
T1+To+ -+ xym =k
ooooN"OO0 (21, 22, ..., 2,)0000,2, 000000
T1+To+ -+ Tpmo1 =k — 2
00 N"-100 (21, 22, .., 2m_1) 000000000000000000,
Pm,k = Pm-1,k + Pm—-1k—1 + -+ DPm—1,0-

ooooo,mO0000000O0O0,p,x0000000000000A0



000 220mO000000004%= (41,42,..,4,) 0N'O0000000OO00O0O
Smi=1{(s1, 82, ..., 8m) € N )" | 81+ 82+ + 8, =1}
goooooooao
o0o0ON*OmOO0 sy, 82, ..., 8 O
s = (811, 812, -5 81m) (1=1,2,...,m)
OO0D00(NY)™00 (s1, 82, ..., 8m) 0 Sm; 00000000000D0000O,

81]+823++Sm]:Z] (]:1,2,,”)

O000000000O00O0O0O0O0 21 000NOOOCOO KOOOO,N"OO (21, 22, ..

g

1+ T2+ T, =k
oo0oobooooooooooooooboon, S, 00000000000

Map(N®, R)OO f,g0N*OO0<¢0000O,
(fo)i) = > f(s)g(t)
s+t=1
goobooooo 2200,000000000o0boUuoo. oo
fg:N"— R, i (f9)(i)

000 Map(N", R)00000.0000000,Map(N*, R)00000000000

000 2.30Map(N*, R)DOUOO0OO0OOOO

*) ‘,I/.m)

O00O0OMap(N*, R)JO0O0O0O0OO0OCOOOO 11 000000000000O0O00OOOOOO

0000000000000000000000
00000Map(N®, R)00 f,¢,hON"O0 40000,

(Fa)n)(E) = D (f9)(r)h(u)

r+u=1

- % (5 s
r4+u=t \s+t=r

= > f(8)g(t)h(w)
s+t+u=1

= > f(8)< > g(t)h(U)>
stv=t t+u=v

Y. f(8)gh)(v)

s+v=1

= (f(gh))(2).



000, (fg)h= f(gh).
00D0O0OMap(N", R)OO f,¢g0NO0 40000,

(fo)E) = > f(s)g(t)

s+t=1

= > g(s)f(t)

s+t=1

= (9f)(3).

ooag, fg=gf.
O00O0O0OMap(N?, R)0O0O f,g, hON*OD0 0000,

(f+9)h)E) = > (f +9)(s)h(t)

s+t=1

= D (f(s) +g(s)h(t)

s+t=1

= > (f(s)h(t) + g(s)h(t))

s+t=1

Yo fEh®) + Y g(s)h(t)

s+t=1 s+t=1

= (fR)(@) + (gh)(9).

000, (f+gh=fh+gh. 000,00000000000200000,

flg+h)=(g+h)f=gf+hf=Ffg+fh

0000000ROOOOOOOOOOOD 10000, Map(N*, R)000000O0 4,00
0000, Map(N*, )OO fON'0O0¢0000

(fA)E) = Y f(8)A®)

st
= f@)A(0,...00+ Y f(s)Ai(t)
stt=i
£(0.0,...,0)
= [(@)/1(0,...,0) 0
= [(@).
000, fi=f.
00000Map(N?, R)000000000000000 O

000 24000000000 Map(N®, R), 00 0: Map(N?, R). = {f, | a € R}.
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(i) Map(N", R). 0 Map(N", R)0 0000000
(i) Map(N", R). 0 ROOOOOOOO

00003 Map(N*, R)O0DO0OOO0OOO fpbOOODODDOOUODOOOO.
ROOa b0 NOO:0000

(fa = fo) (@) = fa () — f(2)

0, ooooooo.

DDD7fa_fb:fa7b€C'DD7

(fafo)(®) = Y fals)fo(t)
s+t=i
ab, i=(0,0,...,0)000
0, UOOooOoooo.
000, fofo = fa € C. 00000, Map(N®, R), 0 Map(N*, R) 00000000
(i) O0¢:R—C,a— f,0000.
oO0000O00ORODODOODO e, bO0D0O0O,

(fa+fb)(z) :fa(z)+fb(7')
a+b, i:(0,0,...,O)DDD
0, ogoooooo.

DDvaa+fb:fa+b'
¢00000ROD«DOOO,

fa:fb:>fa—b:fa_fb:f0
—a—-b=0
= a=0.

o0D0OO0O00DOOOOO0ODODOOO
obob,e00000ODODOOOO

O

00240000Map(N*, R),0 ROODOOUOOOOODOOODOOOOOODOOOOO f,00
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3 guooon

ROODO,n0D000000O.
O00k(1<k<n)DOOOOMap(N*, R)00 X, OODOOOODOOODO

X, : N — R, i+— X(3).
oogd,

. /_/A
i=(0,...,0,1,0,...,0)000
0, 0O0O0OOOO.

00 X;,X,, .., X, 0000000O0D0OO0OOCOO

000 310000000004, fo, ..., foO Map(N*, R)00000Y. N*O0OO0OO00 40
00O

(fifar - f)@) = Y A1) folre)

ritetre=1
goooogo

O000e0OO00O0O0O0DOO0OO0ODOOODOODOOOOODOOOe=2000000000000,
e>2000000000000,

(frfa--- fe)(@) = Z (frfar - fem1)(8) fe(re)

s+r.=1

= Z Z fl(r1)~~~fe_1(7‘e—1) fe(TE)

s+re=1 \T1t+Te_1=5

= Z fl(rl)"'fe(re)

T1t e =1

goon O

0k=1,2,..,n0000,X=10000.
e0000000.0000,Map(N*, R)00 X¢ODOOO3.1000N' 000000000

€

——
Xi(8) = (X -+ Xi)(2)

0, ODOoOOooong.

ooooboooooano

Yoooof, f, ..., fe0 Map(N*, R) 000000000000000000000000



O000O,e0 ROO,e1,69,...,6, 000000000, Map(N", R)OT aX®
03.1000N"0O0000 <0000

o . a, t=(ey,...,e,) 000
aXl ...Xn"" =

0, Dooooono.
0000000000000 ooooooo Map(N*, R)OODOOOOOOOO

XZ”DDD

000 aX;' - X £00000,e1+e2+---+e, 000000000000,

Map(N", R)OO fON"00 i= (i, ...,i,) 0000,

a; = f(i) (€ R)
00000000
(@) =a; = a; X1t -+ X (3).
O000Map(N*, R)0O0 ;X" - Xi»0OON*0OD0 0000
j#i= a;X{' - X;r () =0
0000Map(N*, R)00O fO

E a’l’,Xil .. X;Ln
1EN™

00oooO, fO0000 f(X5, Xe,..,X,)OODOOODDOOOODODOUODOOOOO.

n=1000,0000 f0100000000000000, (40

S
€N
gooo,oooono,
Sux
=0
oOooo
a0+a1X+a2X2+-~-

ggbgobooobooboooooboan.

Map(N", R)00 f0 (4)00000000,000 aX'---X»0 f00000,e,0000
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000 3.10(4) 0, Map(N*, R) 00000 Y, 000000000000000, Map(N*, R)

gboooobooooooboooobobooobooboooon
goopoooNtrOO0:0000,

S aX] X | () = (@ Xi o X))+ [ Y a X X
jENn J#i

= (ai Xy X)) (d)

:ai
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f: ZaiXil.'.X’fln

icN»
gboboobooobooooboooooobooobooobooooooOooboooooooooooon.

ooo0o0oO0,Map(N*, R)OOOUOUODDOOOOOOODOODODMUOODODODOOODOOODOOOO
ood:
000 3.20 () Y, aX{' X =0<=a;=0(VieN").

1€N”

() D aXi - X+ Db X{ e X =Y (aq +b) X XD
1eNn 1€N" IS

(iii) <Z a; X4 ---X;';) (Z b X4 --.X;;y> =y < > asbt> X Xin,

1ENn 1EN? 1EN" \s+t=1
0000 @G) 0, fO0 Map(N*, R)OODODOO,
=0 f(i) =0 (Vi e N")

OoOoooo@g), i)0,0000 Map(N?, R)0O0 00000000 OOO0OO0OOOOOOO
oo O

Map(N", R) 0 (1), (3)0000000000000000000000,RO0000000
n0000000000000,
R[[X1, ..., X,]]

00o. 00, R[[X,, ..., X,)]0000000000OO0OO

000 3.20R[[Xy,...,X,)]00 fON"0O0 ROODOOOOOOOOOOO0O0O0O00O000
[l,ex- RODODOOOODOOOOO,0000000000000000000000000OC
020 R[[X,,...,X,]]00000000000O0O0O0O0OO0O0
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JooooO00oOooOoDooooo.
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00 320 RO00000,Q0O000DOO000ODDOO. aeROO,
1) e(a—i+1

0 ) 7!

0D00.0000,R000000001000000000
(1+X)O‘:i “)x
=0 ¢ .

gooo.

000 3.30r,>2000,RO0C00000. 0000,r=1,2,..,n—10000
RI[X1, ..., Xl 2 (RIX1, s X D[ X sy - Xon]]

goooo.

O0O00R[X,,..., X, ]00000
D alXi X X (5)
1eN»

0000, (R[Xy, ..., X D[Xps1, ..., X)) OO

XL x| xR Xk
Z Z j,kA1 X7 r+1 n (6)
keNn—r \ jENT

000000000 ¢000. (6)0000 (5000000000 ¢000000000,¢00
ooooo.
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1eN”

9= 3 bXpXE X
i1EN?

gooooo. od,
fk: Z ajakX{I ..'X2T7
JEN”

gk =D bipX{ - X"
JjEN"

oo0o0.0000,0keN~"0000

fetge =Y (ajr+bix)X{" - Xir
JjENT
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ooooo,

o(f+g9)=¢ (Z (as + bi) X' "'Xfl">

icN”»

— E E ) . Ji. .. X ke yka
= (ajk +bj k) Xq X X Xn
keNn—r jeNr

kr 1
> (et g X Xk

keNn—r
ki kr
= Z S Xt Xk Z gX At X
keNn—7 keNn—r
= ¢(f) + ¢(9)-

00,0 w,veN""0000

fufo = Z Z ap,ubq,v Xfl X£7

JEN" \p+q=j

goooo,
¢(fg)_¢<z < Z asbt> X{“"Xi")
1€EN™ \s+t=1
= J1 G krt1 ko
= Z Z Z Z ap,ubq.v XX X X
keNr—r \jeN" \utv=k \p+q=j
- J1 Jr kry1 k.,
- Z Z Z Z ap,ubq,v Xl XT XT’+1 Xn
keN"—" \u+tv=k \jEN" \p+q=j
= k1 kn
B Z ( Z fugv> X0 Xy
keNn—m \utv=k
kri1 Ky
= ( Z kaT++1 Xﬁﬂ) < Z ger_;i XSn)
keNn—r e
= ¢(f)o(9)-
O000,¢000000000. -

000 3.40R0O00000, R[Xy,..., X,)]000000.

D000n0000D0O00O0OODODOODOOO.
n=1000. R[X]|00 f=3,yaX,g=>
Oo0oD00O0O000ODDODO.O0DD0OO,

fe=>" ( > asbt> X'

1€N \s+t=1

en0:X'0000000000, ag, 00
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0OX 0000000, ab#£000 apb 00000000 0000.00000, fg+#0.

obd,»n—-1000000000000000D00D0,00330n=100000000,n
O

oboooobooooooa.

000 850 f =Y,y asX{' X5 Xi» O R[[Xy, ..., X,]]00000. 0000,00200

oooooooo.
(i) R[[X1,..., X,)]0000 0000000000000,
(i) ROODODO e000000000000O0. 000,0=(0,0,...,0)000.

godgbdn000000D0O0DOOO0ODOODODO.

n=1000.
(i)=(i) R[X)])0000 f00000000000000000,00¢=Y,,b0iX’€ R[[X]]

| (Z aiXi> (Z biXi> =1.

i€N i€N
go0oDo0o00D,eby=1000.000,RO0000¢ 00D000O00O0DOOCOOODO.

(i)=(i) a0 RODODODOOODODOO.O0O00O,

7
b= —ap' Y abios (i=1,2,..))
s=1

0000 RODDOO (b |ieN)0OOOD,

agby = 1, Zasbifs =0 (i=1,2,...)
s=0

()l we)

€N i€EN
00000, R[X])0000 fO00000000000OO.
0000000000000,»—-100000000000000000.

R[[X., ..., X,]|0O
f= aX{'Xg - X

1eNn
gooooooobooooooo,bob 330 n=100000000,

. J1yd2 ... ydn-1
E aj,0Xy X3 X
jenn—1

X,-1]]O00O0O000O0O000000.00000000,00000 a0 ROO

0 R[Xi,...,
0

oboooooobooooooo.

14



003500,

R[[Xla"'aXnHX = { Z aiXilX? "'Xriln € R[[XlaaXn]]
IS

QOGRX}

gooo.

00 3.301-X0 R[X]|0000000O,
DX =14+ X+ X7+ X4
=0
000.00,1+X0R[X)]0000000,

D)X =1-X+X" - X+
=0

goo.

000000 f=Y,wmaXXP---Xin4£00000,

ord f = min{iik a; # 0}

k=1
oooo0.odf0O fOO0O0O0O0O0. 0000, fO000O0O0OCOCCOOODOOOOOOOOO
00 fO000D00CC. 00000 ccO000O0.00000,0rdfO00D00CCO00000 ccODOO.

i€N™

000 3.60 f, g€ R[X, ..., X,]000.

(i) ord(f 4+ ¢) > min{ford f, ordg}. OO0, ordf#0ordg 0000000000,
(i) ord(fg) >ordf+ordg. 000, RODODODODO0ODOODO.
)
)

o

o

(iii) f€ R[[Xy, ..., X,)]* 000 ord f = ord f~1 = 0.
(iv) ROOOODOD000. 0000, 0rdf=0000 f € R[[Xq, ..., X,]]*.

O00Om=ordf,m =ordg 000. m<m/00000000000000.00,

f=fm+(m+100000), fn#0,
g=gmn + (M +100000), gnw #0
ooo.ooo, f,0 fO00DO00D0O0mOO0OOODOOOOO, 9, 0000000000.

(i) f+g0O
fY9=fm+gn+(m+100000)

000000, () 0000000000 o00. 000, m<m 000,¢,=0000.0000,
fmtgm=fm Z000000,0rd(f+g)=o0ordfO000.
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(ii) fgO
fg9=fomgm +(m+m/ +100000)

000000, (H)000000000000. 000, RODD000,00 3.400 R[[Xy, ..., Xa]]
O000000.000, fugm 20000, 0rd(fg)=m+m/'0000.
(i) feR[Xi,...X,]*0000,003500

f=a+(100000), ay€R”.

0o, ff~' =1000,0000000000000, f'00000«'000. DOO,
ord f = ord f~1 = 0.

(ivy ROOOOOUOO,ordf=0000.RO00D0O0000O0OO0OOOOOOOOOOOO
0,f00000000000,003500 feR[[X,,...X]*00000. 0

000000000000000000000 R[Xy,..., X,)je000:

R[[X1, ..., Xullo={f € R[[X1, ..., X,)]] | ord f > 1}.
000 3.70 R[[X4, ..., X,]]o 0 R[[X,, ..., X,)]0000000O0.
0000R[Xy,..., X,)Jo0000000000000.

frg€R[[X1, ..., X,]Jo, h€ R[Xy, ..., X,]]00D0. 003600,

ord(f + ¢g) > min{ord f, ord g} > 1,
ord(—g) =ordg > 1,

ord(hf) > ordh+ord f > 1

DDDDD,f+g, -9, thR[[Xl,,Xn]]O DDD,R[[Xl,,Xn]]OD R[[Xl,,XnHDD
gooooo. O

R[[X1, ..., X,]]00 f,¢g000d>00000,
f =g (moddegd) < ord(f —g) > d

O000. 000 R[[X,,..., X, ]00000000000.00,00000 fO0g0d—100
0000000000000 00000.»=10000,

f =g (moddegd) <= f —g € X'R[[X])
gooooooo.

000 3.80f,g€R[[X,y,..., X,]]000.0000, f=¢0000000000000,00
0000d>00000 f=g(moddegd) 01000000O00O0O.
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00000000000000000,000000000.
f= e XX X g=3, o i X' X5 Xin00OOO,

fog= Y (as - b)XPXE X
i€ENn

0000,0d>00000,
f =g (moddegd) = ord(f —g) > d

:>ai—bi:0(i1+i2+"'+in<d[|[|[|).

d000000,0000 0000 a;—-b;=000000,f=9g000. O

4 0UOQOOO0OO

RODDOO,n00000000.
A0D0O0D0DO0O000, (fx]A€A)D R[[X;,...,X,]0000000.0AeA0D0DDO,

N) yriy yri i
= Z ag )X11X22 e X
iENn

0D00.000,0¢:eN"00D00O,
Ai={reA|dM £0}

000.0000,00
(S) 000 ieN"0000, |As < oo.

D0000,040000 Y,,,e)0000000.000,000 R[[X,,..., X,]]00

1

5 (50 ) o
€N \\e€A;
OD000.000 (fin|AeA)0000000, Y, 2MAO0O00.00,00(S)0000000d,
(A |AeAND0DDODDDOODODODODO.

fi, for o fm €R[[X1, .., X, g € R[YL, ..., Y]] OO,

g= > biY{'Y{ v
jeNm

00O0.00, R[X,,..,X,]]0000

(i ff32 - firm | j €N™)

3R[[v1,..., Y]] 000000000 R[[Xi1,..., X,)]0000000.
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0o0o0o,000000 (S)Do0o0ooo,0o00oo

Z bjffl 52 frjr;n € R[[le EERE) Xn]]

jEN™

0000. 000 f, fo, ..., fn 0 ¢g00D00000O,

g(f17 f27 sy fm)

oog.
fis fas oo fm € R[X1, ..., Xu]lo, g € R[V4, ..., Y,]]000,0 jeN"0000,00 3.6
0o

ord(b; f{* f3* -+ i)

m
> ord fi* = ji 4o+ + Gim
k=1

00000,0 (bifi*ff- - fir |jeN™00000000. 00000, f1, foy .o frn 0 g0
DoO0oooooo.
00,0,0,...,00 ¢g0000 ¢(0,0,...,0)0,¢0000b00000.

5 000
RODODO,n00000000.
000 5.10Map(N*, R)0 0000
Map(N", R)po = {f € M |00004eN*0000 f(3) =0}
0,0000(1),(3)000000000000 Map(N*, R)O0000D0000
000000, Map(N*, R),, 00000 000000,000000.
f, g €Map(N", R),n 0000,00000 ¢c00000,N"000000 &= (i1, 42, ..., in)

0ooo,
ir>c(k=1,2,...,n)= f(i) =g(¢) =0.

oooo,
ix>2(k=1,2,...,n) = (fg)(§) = Y f(s)g(t) =0.
s+t=1
000, f—g, fg € Map(N", R), 00000. O
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Map(N", R), 0, RO000D0000 0000000000,
R[X1, ..., X,]
000000, R[X,, ..., X,]0000000000

ub s10muboooogooo.obooo,

mm—1)---(m—i+1)

(m>_ i , t=1,2,...000
! 1

0,0<i<mD0000mO0000000:0000000000000,i>mO000000
00.00000,
e’} m ] m m .
1 m: Z: 1
1+ X) Z(Z)X Z(Z)X
=0 i=0
000000000 1000000000.

000 5.20r=1,2,...n—10000
R[X1,.... X = (R[X1, ..., X,)[Xps1, -, X0
ooooo.

000000 330000000, 00 ¢0 R[X;,...,X, 0000000000, 0000
(R[X1, ..., X,))[Xr41, ..., X, 00000000000,0000000000. O

000 530 RO0OOO0OO, R[X,,...,,X,)O00000O0.

O00O0OROOOOOO,0034000000000 R[[X,,...,X,]]000000. 0000
R[Xi,..., X,]0 R[[X,,...,X,]]0000000,00000000000000, R[Xy,..., X,]
oooooooo.

0000,0034000000000000000000. O

ai;é()}

O000.degf0O fOOO0ODO.OOQODO, fOO0O0DOOCOOO0OODOOOOOOODOO
00 fO000000.00000 —ccODODODO.

ooo f4£00 mODOOOOOOOOOOOOOOOOOOOO, fOO0O0C0CODOOOOOO
ooobobmbOOO0OO0ODOODO.

000 f=Y,cmaXy - Xin 400000,

deg f = max {sz

k=1
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000 5.40 f, g € R[Xy,...,X,,]000.

(i) deg(f + g) < max{deg f, degg}. 000, degf #degg0000000ODODO.
(i) deg(fg) <degf+degg. 00O, RODDDDDDODOOOODO.

O00Om=degf,m =degg000. m<m/00000000000000.00,

f=m-100000)4 fm, fm#0,

g=(m' —100000)+gms gm #0

0oo0.000, f,0 f000000mO00000000000, g,,0000000000.0
00, fi=0(m<i<m/)0000O0.

(i) f+g0O

frg=m—-100000)4 f + g

000000, ()000000000000.000,m<m 000, f,,=0000.0000,
fow + 9m =gy 000000, deg(f +9g) =degg 0O 0.

(ii) fgO

fg=(m+m' —100000)+ fngm

000000, G)000000000000.000,RO00000,00 5300 R[Xy,..., X,
000000. 000, fugmw #0000, deg(fg) =m+m/ 0000, O

fi, fay ooy fm € R[[ X1, ..., X4]], g € RY4, ..., Y] 00,

9= S hYPVE v
jeEN™

000.¢0000000,degg00000000000000000,¢g0000000000
00000000. 000,00 (bff'f--fr|jeN)00000000.00000, fi, fo,
o fm0g0000000OOO0 (§4).

00,RO0000 ROOODODODOOOOOOOOO. £0 RXy,..,X,0000000,R
00 ay, as, ..., a, 0 fODO0O0O

flag, ag, ..., ap) = Zaia?a§2~--af;6R
1eNn

0, f0 (a1, a2, ...,a,) ER"O00000ODO.

(a1, ag, ..., a,) €ER*0 00000000, flay, ag, ..., ) =000000000.00,
n=1000,0000 f010000000,00000 f00000.

000 51000 (00000)00,00 (00000)000000000000000000
0000.0000,000 CO0000,RO000, feRX]|00,acCO fla)=0000
000, fO00CO0000000OOOOO,«D0 f00COODO0O0O00O0O0O000O0O0OOOO0.
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6 Laurent [

KOO,n00000000.

0034000000000 K[[Xy,..., X,]]00000000,000000000. 000
KO0O0ODOO0OoOoOooo0o, K(Xy, ..., X,)000.

00,0000 K[Xy, ..., X,]0 K[[Xy,...,X,]]00000000. 00000 KOOOO
0oo0ooo, K(Xy, ..., X,)000.00,0000000000.

K(X1,...,X,)0 K((X1,...,X,))0000000.

K(Xy,..., X, 000000,

9

5 g hEK[Xi . X, h#0

0000000.0000,0rdh=000000000 S0000,50 K(Xy,...,X,) 000
O000.0000,veK[Xy,..,X,)]*000,00

S — K[[X1, ..., Xu]l, % s gh1

0000,000000000000.¢9/heSO0000,¢h 0000 g/AO000000.
l1gbooooo,0oboooocoboooog.

D00 610 K((X))D 000000000 f0,
f=X", keZ weK[X]], ordu=0 (7)

gboobgooogoon.

D000K((X)O K[([X)]000000, f=g/h, g, he K[X]],g#0,h£00000. 000,

g:XTgla TEN? Ordgl#ov

h=X°h;, se€N, ordh; #0
gooo.ooo,
f=X"gihi", ghi' € K[[X]], ord(gihi") =0

ooo.
fO02000

f:Xklulszng, k1, k2 €N, wy, ug € K[[X]], ordu; =ordus =0

ooooboooog,

XFh — yourt € K[[X]], ordugu;' =0

[II:I[I[I[I,kl—k:gzO.DDD,uzuflzlljljlj.DDDDD,fD ()oooopoooooo
ooog. O
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000 6.10006.1020000000000000000000.000,u(X,Y)eK[X,Y]

gbodm>00
1

X+Y
000000000 0o00. 0000, 000000000WwWX,Y)Om>0000000,

= (XY) ™u(X, Y)

XY™ = (X, YV)(X +Y)

00000.000000000,«(X,Y)#0000000000. 000,«(X,Y)0000
a; XhY2 £0000000000. 4 >40000000 X2HY2000000, 4 <ip0
000000 ¢ XnYetl0000000000000,0000000000000.

(MDOO0D0,u=Y,aX (ap#0) 0000,
F=YaiX M =apXF 4o XFH -
i=k
0000000.000000 fO0 Lauwrent 00000. 00,000000000 K((X))OO

0000000 Laurent 00 000. 000,40 fO000000,0rdf000. ordf 0000
0000 «o000. feK[[X]]0000§000000000000000000.

v Oooogd

RODODOODD.
R[X)|ODO f(X)=Y -, X' 0000, R[X]]00 f(X)O

oo

F(X) =) (i+a; . X*

=0

:a1+2a2X+3a3X2+~'

0000000, f(X)0 f(X)000000000. f(X)0 4 nooo.

dX
goooooooooo,
ordf'>1=ordf >ord f — 1 (8)

0ooOoo0o0ooOoooo.
f(X)eR[X]OODO, f(X)eRX]OODO,

degf>1==degf <degf—1 9)

gogooad.
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000 71000000 m>00 ROODUOOO e#00000 ma£00000,(R), (9000
0= 0000boobooooon.

00,0000m>00 RO0O0O0e¢#000000me=00000, (aX™) =maX™ ! =0.
000oo,(8), (9000 =00000000O00O0O0O0OOOO.

000 7.10 f(X), g(X) € R[[X]], ce RODD.

(X)
(iii) (f(X)g(X))" = f'(X)g(X) + f(X)g'(X).

0000 f(X) = Y,enaiXt, g(X) =Y, b:X' 0000,

FI(X) =) (i+Daia X7,
€N
g(X) =) (i+ b X,

1€N

= (Z ca; X ) Z i+ 1)cai 1 X7,

€N €N

FX) +9(X) = 3 (a; + )X,

€N

(f(X) +9(X)) =D (i + 1) (i1 + bit1) X

€N

oooooooo, (), ()booooooo. oo,

f@MﬂZZ(Z%@X

1€N \s+t=t

(ﬂDMDYX«&+D§:a@>W,

€N s+t=i+1

f(X)g(X) = (Z( +1) amX) (Zb X)

ieN 1€EN

—Z(ZSH%MJ

€N \s+t=2

(X) = (Z aiXi> (Z(i+1)bi+1xi>
=y ( > alt+ 1)bt+1> X

1€N \s+t=1

23



ooo,

Z (S + ].)aerlbt + Z as(t + 1)bt+1

s+t=1 s+t=1

= Y sabe+ Y tad

s+t=i+1 s+t=i+1

= Z (S + t)asbt = (Z + 1) Z asby.

s+t=1+1 s+t=1+1

0000,00000000,G(1000000oao.

000 7.20 f(X) € R[[X]], 9(Y) e R[Y]ODODO. 0000,

googo.

odvr100,
, d
(9(f(X))) = Y _bi(F(X))
j=1
d .
=2_b (AFXY (X))
d .
_ (Z b, f<X>J1> 7(X)
d—1 A
— ( (j+ 1)bj+1f(X)J) f/(X)
=g (f(X)f'(X)
oono.

000 7.30 f(X) € R[[X])o, g(Y) € R[[Y)]0DDO. 0000,

oooao.
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D000g(Y)=372,bY/0000,
g(F(X)) =D b f(XY.
j=0
OdeNOODO,
d
9a(Y) = b;Y7
j=0
OD000,odf>100,

9(f(X)) = ga(f(X)) (mod degd + 1).

gooooooooo,
(9(f(X)))" = (9a(f(X)))" (mod deg d).
ooooo 2000004,
(9(f(X))) = gh(f(X))f"(X) (mod deg d).

oo,

hE

(X)) = (G +1)bjf(X),

J

Tl
o

GoS(X) = Y+ Dby f (X))

I
o

00000,00 odf>100,

g (fXFUX) = ga(f(X))/(X)

oooo,
g' (f(X))f'(X) = gq(f(X))f/(X) (mod deg d).
ooo,
9(f(X)) = ¢'(f(X))f'(X) (mod deg d).

O00o0boO0OdeNODOOOODODOO,00 3800,

goo.
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00 7.10Q[X)]0000,exp(X)0000000 exp(X)0DO000O0. 00,

exp X ‘

1
ZH z+1
=) X X).

1=0

0D 7.20Q[X]]0000,log(l+X)0000000 (1+X)"'000.00,

(i+1) (z_—l—l)l Xt

o

@
I
=3

(log(1 + X)) =

(-1)'X'=(1+X)""

o

s
Il
=

00 7.30RO000000,Q000000000000.00,0cRO00.0000, R[X]]
0000, (1+X)*0000000 «(1+X)*'000.00,

(1+X)%) = i(z +1) (Z j_‘ 1>Xi
ot

=a(l + X)~!

ROOOOOO0,QOOD00D0000000D0. R(X]]00 f(X)=Y2,eX'0000,R[X]]
DD/f(X)dXD

o0

/f(X) dx =Y %X

=1

aq 2 a2 |, 3 as .4
— L 4 s
—a0X+2X +3X +4X+

DDDDDDD./f(X)dXD f(X)Ooooooooo.oooooooo,

d
5 [ ax = s

ooooo.

8 Uubuunoboooogd

rROODOOOO.
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RI[X, Y00 f(X,Y) =30 )ene a; X'Y70000,R(X,Y)00 fx(X,Y), fyr(X,Y)O

XX, Y) = Y (4 Daig ; XY,

(4,7)€N?
(X, Y)= > (G4 1Daijn XY
(4,7)€N?
O000000. fx(X,Y), (X, Y)OOOUOD f(X,Y)D X, YOOOOOOOoooooo
of of

D00 810000000 f(X,Y)eR[[X,Y]o00, fy(X,Y)eR[[X,Y]*000000O.
0000,00¢g(X)eR[X])o000DO00O0O, f(X,g(X))=000000%.

D000g(X)=WhX+bX2+--- 0000, f(X,¢(X))=0000000000000.

FXY)= ) a XY
(i,5)€EN?

= fo(X) + A(XY + f(X)Y? +
oooo,
fr(X,Y) € R[[X, Y]] < aon € R*
< fi(X) € R[X]]".
noo,
hi(X)=—fi(X)AX)™" (i=0,1,2,...)
000. f(X,¢9(X))=0000000000,
0= fo(X) + f1(X)g(X) + fo(X)g(X)* + f5(X)g(X)* + -
0o,
9(X) = ho(X) + ha(X)g(X)? + ha(X)g(X)* +--- .
ordg>1000,¢(X)0 10000 hy(X)0 100000000.0000,5 0001000
00.000,i>20000,00 ordg>100

9(X) — (hO(X)'i‘th(X)g(X)k) =0 (moddegi + 1).
k=2
000,¢X)0 Xf000O0O000 he(X)+ Yo h(X)g(X)*0 X*0OODDODDO0OOOO.
oooog,
bi = (ho(X), ho(X), ..., hy(X) OO OO by, bo, ..., 5 00000)

O0ooooog. b,be,..,. 0, 000000000DO0,00000000000000. O

000,¢X)00000D0O0O0OO0OO0O. O
Yoo, f(X, 9(X)) =000 ¢(X) €R[X]o 0000000, 00000000, f000000000.
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D00 820000000 f(X)e R[X)]000.0000,0020000000000.

(i) 00 g(X) € RIX], 00000, f(g(X)) = X.
(i) £(X) € R[[X]Jo 00 f/(X) € RIX]].

000,0000 ()000000,¢X)0000000,¢(f(X))=X00000.

0000 ®@)=@1) f(X)=>enaX’, g9(X)=>,cubX'000. f(g(X)=X00O00010
00000000,a =0,a1by =1000. 000, f(X) € R[[X]]o, a1 € RX. 2000000
F(X)eR[X)*00D0000.
(i)=(1) F(X,Y)=X—f(Y)OOOOOOS&100000O0,00 g(X)eR[[X][p0000
ooooo,
X - f(9(X)) = F(X, g(X)) =0.

0000, f(g(X))=X. 000,¢X)00000 (i)0000000000000000. 000
00, ()=()0000000000000000000,()000000 ¢X)0000000.

000, ()0000 ¢(X)000 ()000000,00000000,00 A(X) € R[[X])oO
0000 g(h(X)=X000.0000, f(g(X))=X0 X0 AX)Dooooo,

00000, g(f(X)) =X. O

000 830 (i) exp(X +Y) =exp(X)exp(Y) D Q[X,Y]]000000DODO.
(i) (exp(X)) ' =exp(—X)0 Q[X)]0O0O0DODOODO.

O0D00@G) X+YeQX,Y]o0DOO,exp(X +Y)0 exp(X) € Q[X]]0 X0 X+Y DD
00000000 Q[X,Y)j0DOODODO.

=1
exp(X +Y) =) X+ Y)k
k=0

1 k'
(3 )

k=0 "~ +t=k
> 1
= § ( § XSYt> .
slt!
k=0 \s+t=k

00,Q[X,Y])]0b000,000000000LDOOOULOOOOOO,

o0 o0

exp(X)exp(Y) = <Z Zl'Xl> (Z ;!YJ)

i=0 j=0
1
= 2 XY (10)
L il
(i,5)EN2



0kO00D00,(10)000000%000000000 Y%,,,.,(1/s¥)X*Y'00000,000
000d>00000

d
T Loy [ Ly

= ilgl —\. 7
(i,5)EN k=0 \s+t=k

00 3800,

lij . 1st
ZﬁXY:Z Zﬁxy .

e ' k=0
00000, exp(X+Y) =exp(X)exp(Y).
(i) YO -XOOOOODOO,

1 =exp(0) = exp(X — X) = exp(X) exp(—X).

000, (exp(X))™! = exp(—X). O

000 840 ROODODO,QUDOO0ODOODODOUOD. O0ODOO,000aeROO0ODO,
exp(alog(l+ X)) = (1+ X)*
00000.00,e=10000,
exp(log(l+ X)) —1=X

googo.

D000 f(X)=(1+X)*-exp(—alog(l+X))000. 00000000000000,

f(X)=a(l+X)>t. exp(—alog(l + X))
+ (1+X)* exp(—alog(l+ X)) - (—a)(1+X)™"

=0.

ROQODODOOOODOOOOD,0000000000 ROOODDOOOOOO,00000000
0000.000,00000m>00 ROOOOOa#00000 me#£0000.00000
0,R[[X))00000, f(X)=0000 f(X)000000. f(X)0000000000000
00 f(X)=10000.000,

exp(—alog(1l + X))_1 =(1+X)*.

ooboobos3uuooobo,boboobooboon. O
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gooo
(1) 0O0O0D: 0000000,0000, 1997.

2 D000 (UDO0OO0,00000): 0000 OO0 40000, 1969.
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